## **Transfers Report**

This report contains the transfers results.

Contest Name	Ward 10 - Kirkcaldy North
Valid Votes	5,169
Positions to be Filled	3
Quota	1,293

## Stage 1

Candidate Name	Affiliation	No. of Ballot Papers
Michael COLLIE	Scottish Greens - Think Global Act Local	204
Craig DEMPSEY	Alba Party for independence	101
Gerald HADDRELL	UKIP	45
James LESLIE	Scottish Conservative and Unionist	789
Carol LINDSAY	Scottish National Party (SNP)	1,661
David ROSS	Scottish Labour Party	1,804
Ryan SMART	Scottish Labour Party	213
Sally WALSH	Scottish National Party (SNP)	352
	Total	5,169

Candidate Carol LINDSAY Elected with 1,661 votes, being in excess of the quota of 1,293 Candidate David ROSS Elected with 1,804 votes, being in excess of the quota of 1,293

# **Transfers Report**

This report contains the transfers results.

# Stage 2 - Surplus of David ROSS

Action	No. of Ballot Papers	Transfer Value	Votes Transferred
Transfer to Michael COLLIE	30	0.28325	8.49750
Transfer to Gerald HADDRELL	4	0.28325	1.13300
Transfer to James LESLIE	83	0.28325	23.50975
Transfer to Ryan SMART	1,512	0.28325	428.27400
Transfer to Sally WALSH	29	0.28325	8.21425
No further preference	143	0.28325	40.50475
Not transferred due to rounding			0.01700
	Total		511.00000

# **Transfers Report**

This report contains the transfers results.

# Stage 3 - Surplus of Carol LINDSAY

Action	No. of Ballot Papers	Transfer Value	Votes Transferred
Transfer to Michael COLLIE	65	0.22155	14.40075
Transfer to Craig DEMPSEY	31	0.22155	6.86805
Transfer to James LESLIE	6	0.22155	1.32930
Transfer to Ryan SMART	50	0.22155	11.07750
Transfer to Sally WALSH	1,398	0.22155	309.72690
No further preference	109	0.22155	24.14895
Not transferred due to rounding			0.00545
	Total		368.00000

## **Transfers Report**

This report contains the transfers results.

# Stage 4 - Exclusion of Gerald HADDRELL

Action	No. of Ballot Papers	Transfer Value	Votes Transferred
Transfer to Michael COLLIE	4	1.00000	4.00000
Transfer to Craig DEMPSEY	3	1.00000	3.00000
Transfer to James LESLIE	15	1.00000	15.00000
Transfer to Ryan SMART	8	1.00000	8.00000
Transfer to Sally WALSH	3	1.00000	3.00000
Transfer to Michael COLLIE	1	0.28325	0.28325
Transfer to Craig DEMPSEY	1	0.28325	0.28325
Transfer to Ryan SMART	2	0.28325	0.56650
Transfer to Ryan SMART	1	0.22155	0.22155
No further preference	12	1.00000	12.00000
No further preference	1	0.22155	0.22155
Not transferred due to rounding			0.00000
	Total		46.57610

## **Transfers Report**

This report contains the transfers results.

# Stage 5 - Exclusion of Craig DEMPSEY

Action	No. of Ballot Papers	Transfer Value	Votes Transferred
Transfer to Michael COLLIE	22	1.00000	22.00000
Transfer to James LESLIE	10	1.00000	10.00000
Transfer to Ryan SMART	11	1.00000	11.00000
Transfer to Sally WALSH	34	1.00000	34.00000
Transfer to Ryan SMART	1	0.28325	0.28325
Transfer to Michael COLLIE	4	0.22155	0.88620
Transfer to Ryan SMART	1	0.22155	0.22155
Transfer to Sally WALSH	15	0.22155	3.32325
No further preference	27	1.00000	27.00000
No further preference	3	0.28325	0.84975
No further preference	11	0.22155	2.43705
Not transferred due to rounding			0.00000
	Total		112.00105

## **Transfers Report**

This report contains the transfers results.

254.06770

## Stage 6 - Exclusion of Michael COLLIE

Action	No. of Ballot Papers	Transfer Value	Votes Transferred
Transfer to James LESLIE	16	1.00000	16.00000
Transfer to Ryan SMART	54	1.00000	54.00000
Transfer to Sally WALSH	100	1.00000	100.00000
Transfer to Ryan SMART	13	0.28325	3.68225
Transfer to Sally WALSH	3	0.28325	0.84975
Transfer to James LESLIE	1	0.22155	0.22155
Transfer to Ryan SMART	3	0.22155	0.66465
Transfer to Sally WALSH	46	0.22155	10.19130
No further preference	60	1.00000	60.00000
No further preference	15	0.28325	4.24875
No further preference	19	0.22155	4.20945
Not transferred due to rounding			0.00000
	Total		254.06770

## **Transfers Report**

This report contains the transfers results.

## Stage 7 - Exclusion of Ryan SMART

Action	No. of Ballot Papers	Transfer Value	Votes Transferred
Transfer to James LESLIE	69	1.00000	69.00000
Transfer to Sally WALSH	64	1.00000	64.00000
Transfer to James LESLIE	373	0.28325	105.65225
Transfer to Sally WALSH	161	0.28325	45.60325
Transfer to James LESLIE	1	0.22155	0.22155
Transfer to Sally WALSH	25	0.22155	5.53875
No further preference	153	1.00000	153.00000
No further preference	994	0.28325	281.55050
No further preference	29	0.22155	6.42495
Not transferred due to rounding			0.00000
	Total		730.99125

# **Transfers Report**

This report contains the transfers results.

# Stage 8 - Exclusion of Sally WALSH

Action	No. of Ballot Papers	Transfer Value	Votes Transferred
Transfer to James LESLIE	100	1.00000	100.00000
Transfer to James LESLIE	63	0.28325	17.84475
Transfer to James LESLIE	181	0.22155	40.10055
No further preference	453	1.00000	453.00000
No further preference	130	0.28325	36.82250
No further preference	1,303	0.22155	288.67965
Not transferred due to rounding			0.00000
	Total		936.44745